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Vs = £,3077, 1,54 0,96,

N2 &— 2N°
26— 2N (Bax., aniexTpHu. paspsan).

(KOMH., 3meKTpHY. paspsax; noyTH He HAET):

N, + 3H,; = 2NH; (500° C, p. kat. Fe, PI)

N2+ H:z &= N:H A1) (1000° C).
ANHMHN
N+ 0; &2 2NO (KOMH., 3NEKTPHY. PA3pAL, MOYTH HE UICT),
Nz + 02 =2NO (2000° C, xar. PUMnO,).
IN ) + 302 = N203d (aneKTpHY. PaspAn).
N, + 3F; = 2NF; (31eKTpHY. paspan).
N1 + 2C (rpadur) <2 CiIN; ' (3nexXTpHY. paspan).
N; (anaxn.) + 6Li = 2LisN (xOMH.),
Nz + 6Na = 2NasN (100° C, anexTpHy. paspan).
N2 + 3Mg = MgsN; (na so3nyxe, 780—800° C).
N2 + 2Al (nopowox) = 2AIN (800—1200° C).
N; + 3LiH = LisN + NH; (500-—600° C).
N3z + CaC; = Ca(CN); (300—350° C),
N; + CaC; = CaCN; + C (rpagur) [1000—1150° C).

N2 + SHCI (xonu.) + 4[Cr(H;0)«Cy] = NaHsCl + 4{Cr(H20)«Ch]Cl,
2N; + H;S0, (konu.) + 4H,0 + 4VSO« = (N:Hs):SO04 + VOISO, (xun.).
N; + 8HC! (kouit) + 6[Ti(H:0)Cls = 2NH.CI + 6[Ti(H:0):Cla] + 24H,0.
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